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ar F (or md—v = F) (5.1)
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000 v=(dr/dt) 0000000

m (v : %) = (F -v) — % (%mzﬂ) = (F-v) (5.2)
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W(th, to) — / " (F )t (5.4)

to
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000000000000 Eq. (5.3)0

T(t1) — T(to) = W(ts, o) (5.5)
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d dr
ZWi(tto) = (F-v)=F.— (5.6)
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Wit ty) = F.—)dt= F. . — ) —dt = F . d
(¢, to) /t ( dt) /t ( ds) dt /0 (F-e:)ds

:/ F, ds:/ Fcos@ ds (5.7)
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D00 Oe, = (dr/ds) 00 30000000000000F, =(F-e,) = Fcosf OO
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/W(F-dr) - —/_W (F - dr) (5.10)
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Fo=——U, F,=——U, F,=——U (5.11)
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F=-VU=-gradU (5.12)
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V =grad = a% :ex%—i—eya—y—l—ez% (5.13)

(@)
gooooooooooooooooogo--- goo
goooooooo---oood

DO000O000000O0]
0x00 =kgm/s> m=N-m=J(@O000)--- MKS OO
cgs OO0 dyne-cm =erg (0O O)
1 N=10° dyne O OO 1 J=107 erg

0000000000 1w {@og)=1J/s

(00oD)

olkgeODOOODODO 1mOOODOOODODODOOOOO (DDDDD)DD 9.8 N
-m=9.8J

o bUudbobgobbobbubbobbbobbobobouobbo0od—-0
00000000000 0oO0o0o0o0oD (Doooboo)ooo

3



o 10000

(000000).-000000000000000 W =-mge, 00
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Ur) = -G (5.18)
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